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  Period____Date________________Area Between Curves

For each problem, find the area of the region enclosed by the curves.
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For each problem, find the area of the region enclosed by the curves.  You may use the provided graph

to sketch the curves and shade the enclosed region.
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  Period____Date________________Area Between Curves

For each problem, find the area of the region enclosed by the curves.
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For each problem, find the area of the region enclosed by the curves.  You may use the provided graph

to sketch the curves and shade the enclosed region.
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